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Find The Errors Questions for IBPS Clerk Pre & SBI Clerk Pre 

Find the Errors Quiz 8 

Directions: In the following question, some part of the sentence may have errors. Find out which 

part of the sentence has an error and select the appropriate option. If a sentence is free from error, 

select 'No Error'. 

1. My grandfather used (A) / to go (B) / for a walk (C) / every morning. (D) / No 

error (E) 
A. My grandfather used B. to go    C. for a walk 

D. every morning  E. No error 

 

2. If tomorrow is (A) / declared a holiday, (B) / we shall go (C) / to a picnic. (D) / 

No error (E) 
A. If tomorrow is  B. declared a holiday  C. we shall go 

D. to a picnic   E. No error 

 

3. The CBI court sentenced four people, including a government servant, to (A) / 

four-and-a-half years’ imprisonment (B) / for illegally procuring contracts from 

Delhi Jal Board (C) / caused a huge loss to the exchequer. (D) / No error (E) 
A. The CBI court sentenced four people, including a government servant, to 

B. four-and-a-half years’ imprisonment 

C. for illegally procuring contracts from Delhi Jal Board 

D. caused a huge loss to the exchequer 

E. No error 

 

4. The USA is aiming at (A) / double its bilateral trade (B) / with India (C) / by 

2015. (D) / No error (E) 
A. The USA is aiming at  B. double its bilateral trade C. with India 

D. by 2015   E. No error 

 

5. The growing cooperation between India and UK (A) / has been manifested (B) 

/ in all walks of life, (C) / be it history, politics, culture or language. (D) / No 

error (E) 
A. The growing cooperation between India and UK 

B. has been manifested 



 

 

C. in all walks of life 

D. be it history, politics, culture or language 

E. No error 

 

6. The rising trend of constructing green buildings (A) / and the scarcity of 

traditional materials have (B) / opened up a sizeable market for young ventures 

(C) / producing alternatives that are cost-efficient and eco-friendly. (D) / No 

error (E) 
A. The rising trend of constructing green buildings 

B. and the scarcity of traditional materials have 

C. opened up a sizeable market for young ventures 

D. producing alternatives that are cost-efficient and eco-friendly 

E. No error 

 

7. The Centre plans to form an empowerment group (A) / under the Oil Minister 

(B) / to grant operational flexibility (C) / in enforcing oil and gas contracts. (D) / 

No error (E) 
A. The Centre plans to form an empowerment group 

B. under the Oil Minister 

C. to grant operational flexibility 

D. in enforcing oil and gas contracts 

E. No error 

 

8. The State of Karnataka, especially (A) / its coastal districts of Udupi and 

Dakshina Kannada, (B) / is unarguably the cradle (C) / of banking in the country. 

(D) / No error (E) 
A. The State of Karnataka, especially 

B. its coastal districts of Udupi and Dakshina Kannada 

C. is unarguably the cradle 

D. of banking in the country 

E. No error 

 

9. Few states are grappling with (A) / the issue of finding (B) / the correct legal 

strategy (C) / to combat the superstition-based social menace called witchcraft. 

(D) / No error (E) 
A. Few states are grappling with 



 

 

B. the issue of finding 

C. the correct legal strategy 

D. to combat the superstition-based social menace called witchcraft 

E. No error 

 

10. Some of the long-tailed birds (A) / that emerge early in the morning, (B) / 

include the black-headed Jay (C) / and the lesser common Eurasian Jay. (D) / No 

error (E) 
A. Some of the long-tailed birds 

B. that emerge early in the morning 

C. include the black-headed Jay 

D. and the lesser common Eurasian Jay 

E. No error 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

E A D B A E A E A D 

 

Explanations: 

 

1. 
The sentence is absolutely correct and thus has no error in it. 

Option E is hence the correct answer. 

 

2. 
Here, for a picnic should be used. 

Hence, option A is correct. 

 

3. 
Replace ‘caused’ with ‘causing’. 

Like 'including' and 'procuring', 'causing' is used here as a preent participle. 

Hence, option D is correct. 

  

4. 
Replace ‘double’ with ‘doubling’ in fragment B. 

We use a gerund (verb+ing form) after certain verbs/phrases that are followed by appropriate 

prepositions; desirous of, keen on, aimt at, hesitate in, etc. 

Option B is hence the correct answer. 

  

5. 
Place ‘the’ before ‘UK’. 

We place the definite article 'the' before proper nouns when they refer to the names of descriptive 

names of countries such as the USA, the UAE, etc. 

Hence, option A is correct. 

 

6. 
The sentence is absolutely correct and thus has no error in it. 

Option E is hence the correct answer. 

 

7. 
We need to place the past participle that would function as an adjective before the noun 'group'. 



 

 

We will therefore replace 'empowerment' with 'empowered' to make it a grammatically correct 

sentence. 

Ex. A detailed report or plan contains a lot of details. (Not 'detail') 

Hence, option A is correct. 

  

8. 
The sentence is absolutely correct and thus has no error in it. 

Option E is hence the correct answer. 

 

9. 
Add ‘A’ before ‘few’. 

We use indefinite article 'A' before the adjectives 'little' and 'few' to give the sense of 'some'. 

A little - Some (Quantity) 

A few - Some (Number) 

Ex. I have a few good friends. 

Ex. I have a little sugar. It will do for another week. 

Hence, option A is correct. 

 

10. 
Replace ‘lesser’ with ‘less’. 

Hence, option D is correct. 
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